UN—SS1000—40 $=1:20
= ==
[*ﬁlﬁaﬁﬂﬂﬁﬁ] DAY A Y 1H
(AREEBRNGS 7 ERENREREL - ARETHICEICAEAN GL+0m 2k3) () WIERERERT,
2000 | 2000 ] L -
ol
o<
B RN
T a =
\_‘_‘ 5.0 Al
i JA4Xrya il (4.5)
H O EPDED. )
ﬁ%-7w5-77$9¢A]
éﬁ&)?%ﬁ%ﬁ( n C § § — — V
=== e =40
| 1]
GL+Om  [EE T ER &
| $50.8x1.6 $50.8x1.6 | /! 8 s ‘
1! 1! o v ! Bt
2 B E- - - BH5 7 EREORELESE - AETSCESCAEAIZKS.
EfE- - BERS1. AmUT(BHEO. 3t m)
HEGEREDHET S,
SRS SSes SSNes M. AEEEEFEOEEDEFThEL,
HEEAE - - - EHIHAMAD 98 kN (10t./m)
BETRSEBVEDET S,
250 250
5
1. Wi—;l:obj’c
R I R R TN -E TR
D ey EERHEE B RS G AR
$=1:5 B #jER X $=1:5 C &R ER f+ = §=1:5 R v BRI - = O L EFHEE ISR RS
SRR, F b - SERRE SN - = D _EIFEE R NE
(= 14 e
= % 1 = =
U
#RTaA vk il L ERa #ziel F4EBN M8 x 25

FAIEBN M8 x 65

FAIRBN M8 x 53

W) W)
N D D N )
= '—TW T T '—r\ = r[ '—TW T
— NI — —fc & -
"1‘{‘ ' ' v—ﬁl‘/‘- —ﬁl‘/‘- ' |
| | = {—é} —— T — E}—L —
|
| | »

FAIEBN M8 x 65

FAIREBN M8 x 53

==l VAR N

W)

231408112—1

2024.03




